2003

H26- ()

-089

1999
10
10
10 NYHA
B
10
18,000
22,000
1999
5 2008 10
1.
1999
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1998
1,944
2. 10
2
2008
3.
1999
10
2
A
B
A

2,148

1999

220

10
Cox
X
10 S(x)
S()= [SO]eXp B x)
S()= {[SO]eXp(B a)yexp (B (x-a))
{[SO]exp(B a)}
a 10
a [SO]exp (B a)
exp (B (x-a))
X S(X)
Cox
X t
S(t:x) S(t:x)=[S0(t)]exp
B x S0(t)

X a
S(Ex)={[S0(t)exp(B a)}exp (B (x-2))
{[S0(O) Jexp(B a)}

a t
a
[So(t)]exp (B a) exp
B (x-2)) X
S(t:x)
30 30 59 60
NYHA [ Y

Reclassification table

Reclassification table net
reclassification improvement (NRI)
integrated discrimination improvement

(1D1)
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Net Reclassification Improvement (NRI)
= [Pr(upjcase) - Pr(down]case)] +
[Pr(down]control) - Pr(up]control)]

Integrated Discrimination Improvement
(ID1) = (ave Pcases - ave PcontroNnew
model - (ave Pcases - ave Pcontrolold
model

10

10

SPSS
ROC
Reclassification table

10
1,482
10 55.9

NYHA

(LVD index) LVD index

10

10 DCM = (0.559)e[0.493(age2 -
0.28) + 1.197(age3 - 0.47) -0.330(sex -
0.28) + 0.640(NYHA2 - 0.41) +
0.925(NYHA3 - 0.29) + 0.781(NYHA4 -
0.10) + 0.015 (LVDindex - 39.4)]

age2, 30-59 =1, =0 age3, 60
=1, =0 sex =0 =
NYHA2, NYHA 11=1 =0
NYHA3, NYHA =1 =
NYHA4, NYHA 1v=1 =0 LVD

index,

1,577
10 68.9
NYHA XP
(CTR) (EF)
(1VST)
10
10 HCM =(0.689)e[-0.083(age2 -

0.34) + 0.898(age3 - 0.58)-0.270(sex -
0.29) + 0.388(BMI1 - 0.14)- 0.394(BMI3 -
0.31) + 0.405(NYHA2 - 0.27) +
1.249(NYHA3 -0.04) + 1.383(NYHA4 - 0.01)
+ 0.061(CTR - 53.5) - 0.025(EF - 71.1) +
0.033(IVST - 16.7)]

age2, 30-59 =1 age3, 60
=1 sex, = BMI1, BMI <20
=1; BMI3, BMI>25 =1  NYHA2, NYHA

2=1 NYHA3, NYHA 3=1
4=1 0

NYHA4, NYHA

NYHA

10

10 =(0.689)e[-0.18 (age2 - 0.34)
+ 0.79(age3 - 0.58) -0.30(sex - 0.29) +
0.36(BMI1 - 0.14)-0.35(BMI3 - 0.31)
+0.06(CTR - 53.5)-0.03(EF - 71.1)+0.03
(IVST - 16.7) -0.11(NYHAL(+) - 0.29)+
0.59 (NYHA2(-) - 0.13) +0.20(NYHA2(+) -
0.14) +1.24 (NYHA3(-) - 0.02)
+0.84(NYHA3(+) - 0.02)+1.39(NYHA4 -

0.01) +0.77 (sinus(+) - 0.03) -
0.030 (Af/AF(-) - 0.18)-
0.053(Af/AF(+) - 0.18)]
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age2, 30-59 =1 age3, 60 10
=1  sex, = BMI1, BMI <20 3
=1; BMI3, BMI>25 =1 NYHAL(+), NYHA 1-
B =1 NYHA2(-) NYHA 2-B3 10
=1 NYHA2(+) NYHA 2-B 4
=1 NYHA3(-) NYHA 3-B
=1 NYHA3(+) NYHA 3-B =1 D.
NYHA4 NYHA 4=1 sinus(+) -
AFf/AF(-) -
AT/AF(+) -
0

10
10

10
ROC Reclassification table
10

Model 1: NYHA 10
Model 2: Model 1 BNP

Model 3: Model 1 BB

Model 4: Model 1 BNP, BB

BNP BNP (<20, 20-99, 100-299, 300<)
BB:p BNP
ROC ROC

AUC  (95% Model 1

0.68 (0.62-0.74) Model 2  0.72 (0.66-
0.78) Model 3 0.71 (0.65-0.77)

4 0.74(0.68-0.79) Model 1
Model 2, Model 4
p=0.048, p=0.010 2

reclassification table
Model 1 Model 3 NRI1 1DI
Model 1 BNP BB
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1999
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ETILI ETIL2

EHEHER £5% RCE 455 RCH
90%LL L . —
80-89% - —
70-79%

60-69% -
50-59% - I .
40-49%
30-39% -
20-29% -
10-19% -
10K %
AR A S S S T S T S G A 4 % & & & & & &% &
1 10 10
1 NYHA XP
2 1 B

z °

2

;.:s =

—— Model 1
----- Model 1+BB
o | = | Model 1+BNP
c 7,7 -=== Model 1+BB+BNP
T T T T T T
0.0 0.2 04 0.6 0.8 1.0
1-Specificity
Model 1: NYHA BNP BNP (<20, 20-99, 100-299, 300<)
BB:p
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BXEOEBE FEFAIL—LA
HEpaH i (%) 50
YERI (Bt 0, %t 1) 0
HBE (cm) 160
HE (k9 60
NYHALERENFE (51 —4) 2
FIEBxER LaEBLEE (%) 50
HER HEEEE CREE-0, ThL=1) 1
N T EEEHE (%) 50
HEPFREEE(mm) 15
EWramk BEHE (TZL=0, HY=1) 0
FSEE, UVMRE (aL=0, HY=1) 1
FRSNDHI0FELEFFE 62.4 %
LTOEBOANDWETT.
10
=84 =8
5% Bt 8 BNP(pg/mL) 20 ki 0
% 0 20-99 24
F# 20MKH 0 100-299 64
20—595% 30 300 L1k 100
60k LL L 62 BEME 4L 52
NYHA class | 0 HY 0
class Il 58
class Ill, IV 72
Total Points ~
0 50 100 150 200 250 300 350
szis I L T T L4 L L ]
095 09 08 07 06 0504
10-&?; ¥ v T T T T T ]
09 08 07 06 0504 03 02
5 10
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